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General Instructions :

(1)  The question paper comprises two Sections, A and B. You are to attempt both the sections.

(it) All questions are compulsory.

(iti) There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be attempted separately.

(v)  Question numbers 1 to 3 in Section A are one-mark questions. These are to be answered
in one word or in one sentence.

(vi) Question numbers 4 to 6 in Section A are two-marks questions. These are to be answered
in about 30 words each.

(vii) Question numbers 7 to 18 Section A are three-marks questions. These are to be answered
in about 50 words each.

(viit) Question numbers 19 to 24 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions based on practical
skills. Each question is a one-mark question. You are to select one most appropriate
response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks questions based on practical skills.
These are to be answered in brief.
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HOT - A
SECTION - A

1. 39 Uehied &1 9 AR T fafau foge w o1 # 4 e wEy g §10 1

Write the name and structure of an alcohol with four carbon atoms in its
molecule.

2. 3 Siel I R FHed B, T Tk & A ¥ S € YRR & T qm e ¥ 1
TH YRR & Sl ol Teh IGM&L01 SIS |

What are those organisms called which bear both the sex organs in the same
individiual. Give one example of such organism.

3. AN % S UG Siad Icil A AfKEl oh @A-Hed ¥ THeRy W IS a1
fordll T v #1 et SIS

Write one negative effect, on the environment, of affluent life style of few
persons of a society.

4. et el < g o fodt foma & gfdfars o1 staide —3 1" T ey 2

R gdu/gfafer & fawg § 9 9R SHwIREl st g s R

“The magnification produced by a spherical mirror is —3”. List four
informations you obtain from this statement about the mirror/image.

5. ‘‘on S fafaua & fafire o €17 3@ wUE #1 gfie wifew 2

Forests are “biodiversity hot spots”. Justify this statement.

6. o1 9UTU 1 T? IE doh-lh fohd ThR STl & G0 § HRHH ¢ 2 2

What is water harvesting ? How can this technique help in the conservation
of water ?
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forelt TrEett, fSed o70] §51 C,H,0 &1 &8 -3 X 9 8, # Hifead
YTg T THE T M R dd JEaeee & 1Y &% 719, Y 9 fAahad T
@A o @ W Sad! didl aF | 98 719 ‘99’ @ § Sadt 81X iRy
! gAY | BF arelt STfuferan &1 TaEie eI faf@e | S9 o™ X &l
Y Wig GeRIReh T & 919 TH HXd &, 1 Sl 391G o1 &, SHehT A 3iR
q= fafaw)

On dropping a small piece of sodium in a test tube containing carbon compound
X’ with molecular formula C,HgO, a brisk effervescence is observed and a gas
Y’ is produced. On bringing a burning splinter at the mouth of the test tube

the gas evolved burns with a pop sound. Identify ‘X’ and Y’. Also write the
chemical equation for the reaction. Write the name and structure of the

product formed, when you heat X’ with excess conc. sulphuric acid.

forelt Tfeeeme iR fret ®IEH AT 1 T9H 7 §F, S C,H,0 g1 Fefd
fordl S Uehal ©1 39! HEAU 3R 9M fafaw) fogm & g & 39 91 &
9 & GaY &1 Seei@ HifT |

An aldehyde as well as a ketone can be represented by the same molecular
formula, say C3HgO. Write their structures and name them. State the relation

between the two in the language of science.

HE T X MYAF Mad AROT & d oTed 2R 16 9 wqg H feerd T

(2) X H GASThal el i H&AT a1 ST FASTehdl (Hid ifsg |

(b) X I TEEISH & WY fAfehan g1 o= Aifitew &1 319] ¥ faf@n qon sqet
sl M-fog | Eifeu |

© @ X &1 W fafau qon Seore wifse foe a8 I o1g § steer g 2

An element ‘X’ belongs to 3" period and group 16 of the Modern Periodic

Table.

(a) Determine the number of valence electrons and the valency of ‘X'

(b) Molecular formula of the compound when X’ reacts with hydrogen and
write its electron dot structure.
() Name the element X’ and state whether it is metallic or non-metallic.
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12.
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(a) STMH 3TEd IR | gkl Fefaal (THE T& IR oTad §EA) &l Soci’
hifSTT |

(b) T Tl I AT AT A1 & Hed A H Faferd sifag |

© X IR ZH FAM H 91 A w1 g fafan |
Three elements X’, Y’ and ‘Z’ have atomic numbers 7, 8 and 9 respectively.

(a) State their positions (Group number and period number both) in the
Modern Periodic Table.

(b) Arrange these elements in the decreasing order of their atomic radii.

(¢) Write the formula of the compound formed when ‘X’ combines with Z’.

0N\

Sitel o S o HeW H STEM BH A U8 gaeewe ! (YASA) i e 3
FIWC I F9 | quia HIfWC fF RS 919 95 HIfvs Sal # gaegyad’ &l

o o NN
Alondl Tond HonlR dH=l eldl %7

Explain the term “Regeneration” as used in relation to reproduction of
organisms. Describe briefly how regeneration is carried out in multicellular
organisms like Hydra.

~

TS o 59 o ded § fogued ok @ved & o9 U@ < & 3o &I | 3
JA%h &l Th-Tah 3R o SifSu |

In the context of reproduction of species state the main difference between
fission and fragmentation. Also give one example of each.

5 P.T.O.
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(a)

(a)

(b)

TR S G Scqel dara § fafyemn gfteri=r 89 o <1 ®RON i g
TARTC

() 3R@ H Afha 9 ‘A’ &1 9W faf@w)

() ‘A’ 9N ‘B q% THE YHR TEAT © ?

(i) 9N ‘C’ =1 Hew fafEu|

(iv) ‘D’ g1 Afehd WM o1 Fo=F & I9=1d o1 Bl © ?

List two reasons for the appearance of variations among the progeny
formed by sexual reproduction.

(1) Name the part marked ‘A’ in the diagram.

(11) How does ‘A’ reaches part ‘B’ ?

(11) State the importance of the part ‘C’.

(iv) What happens to the part marked ‘D’ after fertilisation is over ?



14. “‘orerEa & 9 - faemm’ eiR ‘e’ WeR W ¥’ 3@ &ed i e 3
SIS |

“Two areas of study namely ‘evolution’ and ‘classification’ are interlinked”.
Justify this statement.

15. 3TN I el 9 = fIu T swed 1 gfe wifse 3
“HIE AU FUTG a1 BT €, T oFad el ol uwar !’

With the help of an example justify the following statement :

“A trait may be inherited, but may not be expressed”.

16. ot ofw gro o Tt foar & wfafama o1 emadq —1 81 afe fa= =t wfaferar 3
Y T 60 cm T, O TF HI BHT QU 1 © 2 AfG foa &1 o9 HT 3R 20 em
ARG e fean S, 1 gfafers el s ? 3199 ST o1 RO qfee 3R
9l qfte & foaq fotor s@ ot wifaw |
The image of an object formed by a lens is of magnification —1. If the distance

between the object and its image is 60 cm, what is the focal length of the
lens ? If the object is moved 20 cm towards the lens, where would the image

be formed ? State reason and also draw a ray diagram in support of your
answer.

17. I€ I & fau fodl feammran &1 auiF wifau fo o9 yor © fUysw g 3

foratfed vad Ykt o1 o= o fUsH g0 qAAifSid ohdeh UH: vod Tehtel IT

fhall ST Wehal §1 T30 YT oh WagH & AAre ol <R & forg fhor o
oft Sifau|

Describe an activity to show that the colours of white light splitted by a glass
prism can be recombined to get white light by another identical glass prism.

Also draw ray diagram to show the recombination of the spectrum of white
light.
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A4 o fohamehatmdl = Sia AUed & Sid U1 &l U T ¥ FTfad e g1 dma
SR Yhfd o THIfHA e 4 Sa-AvSd o Sid T oTod Aagdl o FAeTia
Tqe & T-I% X fean T wHa 5N W giva yfaea aRfefai 3 9
Fac IUD! YA IR Sfad I ATHR T, sfeh Yool & gaw Sfal bt ot
TAARRT €| STIRT Teh TEUR! Il Ik TRl o 'Shl e’ 1 Aihd 95 ©
el o BE H AR o I SRRl Scdel Y @1 |, a1 39 99 | off e
W' 98 UH-US™ & THERU o TR0 & Ak o faC ff #3R w1
W@ e

(a) BH 31T YFTEROT o HEUT HTAT i OIS € 2

(b) =R U] & FRUg faer & fau g8 &R fich Fe-ufedl &1 95
fafem |

(¢ %k W HBUE! g USfid S ool skl F IR S Yk fommer &
‘1 Fa’ H AfRd 9 R

The activities of man had adverse effects on all forms of living organisms in
the biosphere. Unlimited exploitation of nature by man disturbed the delicate
ecological balance between the living and non-living components of the
biosphere. The unfavourable conditions created by man himself threatened
the survival not only of himself but also of the entire living organisms on the
mother earth. One of your classmates is an active member of ‘Eco club’ of your
school which is creating environmental awareness amongst the school students,
spreading the same in the society and also working hard for preventing
environmental degradation of the surroundings.

(a) Why is it necessary to conserve our environment ?

(b) State the importance of green and blue dust-bins in the safe disposal of
the household waste.

(¢) List two values exhibited by your classmate who is an active member of
Eco-club of your school.



19. (a) Teld o9 & weeg g0 w1 gRum fafaw) 5
(b) et TIER o9 ®t HIHT T 30 cm B 1 39 H o YHIVTR s o TRl

o

5 cm SR % fom &1 ot O W @ 9, f& 39 gfafoms of@ 9
15 cm Q0 W a1 ?  gfafesa w1 @S ot 7 HifSw)
(© W fegfa d§ gfafara a7 <9 & faq feor e wifeu |

(a) Define focal length of a spherical lens.

(b) A divergent lens has a focal length of 30 cm. At what distance should an
object of height 5 cm from the optical centre of the lens be placed so that

its image is formed 15 cm away from the lens ? Find the size of the image
also.

(¢) Draw a ray diagram to show the formation of image in the above situation.

20. 12 cm HIHY §U & 3TEAd U0 gRI fopelt forrar 1 e wfifena o9 & faw #e1 5

T R

@) TOU % "HA fare w1 g0 %1 9 afE] 2 ey ?

() o aren gfafora qEs § fam= @ S O Y6 9817 39 YE0 §
yfafara a1 <91 & fau fotor s difew)

(i) 39 forar o1 wfafems el o=, aft 38 SO & 9 24 om W R W@ T
TMC? A9 IW ol e & fau g9 feufq & fau «ft feo sma Eifa

ST TRt oT@l § 4d, & ®ihd 3R Iohdl o & Teafaal o1 off Seiisq |

It is desired to obtain an erect image of an object, using concave mirror of focal
length of 12 cm.

(1) What should be the range of distance of an object placed in front of the

mirror ?
(1) Will the image be smaller or larger than the object. Draw ray diagram
to show the formation of image in this case.

(111)) Where will the image of this object be, if it is placed 24 cm in front of the
mirror ? Draw ray diagram for this situation also to justify your answer.

Show the positions of pole, principal focus and the centre of curvature in the
above ray diagrams.
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AU 3TYad F1 § 7 9 UREEAT H1 IUAN L A < W Uihfaew
HEAISA] i AT HIT

(2) N o1 feAfenm

(b) fm Eiea iR foafea g

AT I o TR & fau g wifeu |

What is atmospheric refraction ? Use this phenomenon to explain the following
natural events.

(a) Twinkling of stars

(b) Advanced sun-rise and delayed sun-set.

Draw diagrams to illustrate your answers.

YT T & ? THR YT 1 IUH hiTST | Tl AHE H1eT o Thi0 § 39

Rl T 3T hiTIT |
What is placenta ? Describe its structure. State its functions in case of a
pregnant human female.

fawg =1 gy fafgu) =% feg YR &1 82 o9 wifse fo Stamg fee
TR fam & Tme § qHo TRy w1l © 2

Define evolution. How does it occur ? Describe how fossils provide us evidences
in support of evolution.

#1g A AR P AHH Hig H,S0, % o T4 fhu 51 0 *E o1 Afien
‘Q T § S TR 3 @i IUTRd H SRS 9 Hehald Shich His dqW
AT R’ oA 1 €1 R’ 1 TH 3], T& 8 W, HTe SBAGES o T 3T qefl
S % F 310 9AIT 81 P, Q 3R R &I YeAIHC AR wiwfaq stfufswansti &

THEHeh g fafey |

A carbon compound ‘P’ on heating with excess conc. H,SO, forms another
carbon compound ‘Q’ which on addition of hydrogen in the presence of nickel
catalyst forms a saturated carbon compound ‘R’. One molecule of ‘R’ on
combustion forms two molecules of carbon dioxide and three molecules of water.
Identify P, Q and R and write chemical equations for the reactions involved.

10



HOT - o
SECTION - B

25. = feu U oM@ H el 3ifoRd w0 HE 9 T2 1

(@) iR ze ®) <A 3R D
© i, ze 3R /D d <r, ZA X D

In the following ray diagram the correctly marked angle are :

(a) «iand Ze (b) <A and #D
() /i, Zeand £D d) «r, A and #D

26. T ST STAH STAHT THFTIMAT bl TSl o gL& o W TGt HiHel<l &f sarel w1 1
yidafers STe1 99 g U8 W Hikgd X faan B o afg oush foners weiea
3Meh! G 9 ATt B W 3Tt A k1 FHR RN o 3H 9d W wmeRfEd
F{1 T YA <, 1 SAUH I UL Hi Wt © b AW
(2) G HI IS W UG hl 3T FLHIL |
(b) TE HI A W UE F T IR |
(© | I A 91 GF H fown H ERIE |
@ <G IR 9 A B gF BT AR T |
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Suppose you have focused on a screen the image of candle flame placed at the
farthest end of the laboratory table using a convex lens. If your teacher
suggests you to focus the parallel rays of the sun, reaching your laboratory
table, on the same screen, what you are expected to do is to move the :

(a) lens slightly towards the screen
(b) lens slightly away from the screen
(¢) lens slightly towards the sun

(d) lens and screen both towards the sun

QU T sfedel YU i WiFhRe HIRE T @ FH A 39 gdur gry TRt
Ty fo o1 gfafora freft 08 W wefad &d 81 76 W 9w giafa fom
ﬁwﬁﬂéﬁl:

(a) TG uftafda iR B e 7

(b) S AR B Bl 2
© Hrem 3R BT B ©
@) Hrem 3R T B e B

To determine the approximate value of the focal length of a given concave
mirror, you focus the image of a distant object formed by the mirror on a
screen. The image obtained on the screen, as compared to the object is
always :

(a) Laterally inverted and diminished
(b) Inverted and diminished
(¢) Erect and diminished

(d) Erect and highly diminished

12



28, ATY AU FANRIeN § fafy@ Saae &Il (~i) % fa¢ &9 & &9 § oA a1
Y13 fReor &1 9 ARfEd #d €, 991 TS Y0 § qea&dt 3Tqdadd vl
(~ ) 3R a7 (Le) o ATOQ €1 3T YeTol o STTUR MU Tel fe=nd 7%
g &
@) £iFS T sr W, T Le & T IR §
(b) iBRIE /r ¥, W Le T T R T
© i9ET LoV, W £r F AN IR T

) £iBEAE Le W, Vg 2r & ATHT SRR ©
In your laboratory you trace the path of light rays through a glass slab for

different values of angle of incidence (£ 1) and in each case measure the values
of the corresponding angle of refraction (£ r) and angle of emergence (£ e).
On the basis of your observations your correct conclusion is :

(a) «iis more than /r, but nearly equal to ze

(b) ziisless than Zr, but nearly equal to Ze

() Ziis more than e, but nearly equal to /r

(d) ziisless than Ze, but nearly equal to /r

29. 3UF foamed & U9-Ye H WIAN & U oTavaed #3R 9d Suated =&l g1 1
e foemerd § 3uced oaul o A< fU 99El § 9 98 Th 99 gHe Sas
T TS i A I | e W, 98 39 HAR e o1 <
(a) Tifedq FARES, HiedgaHq FARES
(b) TP FREs, Gifead FREs
) Wifeay srEs, AHIREY FREs
d) FHfegay FiREs, T FTREs

In the neighbourhood of your school, hard water required for an experiment

is not available. Select from the following groups of salts available in your
school, a group each member of which, if dissolved in distilled water, will make
it hard :

(@) Sodium chloride, calcium chloride

(b) Potassium chloride, sodium chloride

(¢) Sodium chloride, magnesium chloride

(d) Calcium chloride, magnesium chloride

31/2 13 P.T.O.
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30. I3 B GreHTRu A9l & Afyfsran fagm &t T 98 vt idl faeng o=
3R o o foeqg 99 W Sield €1 98 g€ Y&y i ® o

31.
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(a)
(b)
©
(d)

et ferea 991 § g 9fitadq T&f gran iR ot foeud o3 The €1 ST § )
o fereng o # = aftedq 2 i IR e foens 99 e 2 S 2
et feremg o= § &8 uRada 781 g iR oe ferems 9 Hfien &1 S 2
gHl B fofeqq o= & 1 | &l aREdy T8 sl

A student puts a drop of reaction mixture of a saponification reaction first an

a blue litmus paper and then on a red litmus paper. He may observe that :

(a)

(b)

©

(d)

There is no change in the blue litmus paper and the red litmus paper
turns white.

There is no change in the red litmus paper and the blue litmus paper
turns red.

There is no change in the blue litmus paper and the red litmus paper
turns blue.

No change in colour is observed in both the litmus papers.

TNl H e[ o & fag g6 #iE da ofR #IE 4R =1feq | 99 o9 & fau
T AR &R 1 = foan T S o GasH g9y ST W@ 2

(a)
(b)
©
(d)

TWUS &1 dd 3R Hicwoy gReedEe
TRAA &1 9 3R Wifeaq eEeiEs
TWUE & dd IR Tifedq gEeiarEs

T &1 dd IR Hfewam gEelaEs

For preparing soap in the laboratory we require an oil and a base. Which of

the following combinations of an oil and a base would be best suited for the

preparation of soap ?

(a)
(b)
©
(d)

Castor oil and calcium hydroxide
Turpentine oil and sodium hydroxide
Castor oil and sodium hydroxide

Mustard oil and calcium hydroxide

14



32. Afc oud e <t Toft wfssl ¥ 3 <1 wiosl & 9qg o1 g1 & fau *a1 S
et =T TAeE €, @ o1 3 @ TR AN 2

(a) TSR SR T (b) 3TE AR ITRIH<T

¢ T AR AR @ 9ot 3R a1

If you are asked to select a group of two vegetables, out of the following, having
homologous structures which one would you select ?

(a) Carrot and radish (b) Potato and sweet potato

(¢c) Potato and tomato (d) Lady finger and potato

33. TANRICT H HeX o oSl o YU 1 Y& Fd G forefl 1 14 9 i e1qan
gt o fafys 9 &t ST e oo H Y e |

SSITERUl, 3T=d:hold, Joligy, TipY, SSUe gR, a3 |

39 Gl &1 980 S o qvE e qEed 7 9% feweft o6, fe e | shaw
T o9 @ T § 1 SWE g H ¥ wd 9w sifew

(a) SITSIERU, HeAigR, SS9 (b) 3T<:hed, HAIEL, SSUE R

(© SS9, i, SISl (d) AR, SIS, TigT

A student while observing an embryo of a pea seed in the laboratory listed
various parts of the embryo as given below :

Testa, Tegmen, Radicle, Plumule, Micropyle, Cotyledon.

On examining the list the teacher remarked that only three parts are correct.
Select three correct parts from the above list :

(a) Testa, Radicle, Cotyledon (b) Tegmen, Radicle, Micropyle

(¢ Cotyledon, Plumule, Testa (d) Radicle, Cotyledon, Plumule

31/2 15 P.T.O.
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2.5 cm T8 1 hIg fo 10 cm HIHT T & fRdl 36 AF & IR &g ‘O’
Y 15 em 0 W feo@ T1 a7 9l gfafera w1 feafa oiR 9s 9@ &6 & fag
fortu 3TRE EiTAT | 36 @ H Y o= ‘O’, &I ®ikd F ad1 gfafars st

e 3ifehd HIFT |
An object of height 2.5 cm 1s placed at a distance of 15 cm from the optical
centre ‘O’ of a convex lens of focal length 10 cm. Draw a ray diagram to find

the position and size of the image formed. Mark optical centre ‘O’, principal
focus F and height of the image on the diagram.

HIE B Th I HIfeqq BRESH e Juf Tk § fau T udHiges 3
A foama 1 7 @ g Yeon &1 gel oy, R 38 vk ¥ g 9
stfuforan & fowa # ot e 9 # forean =nfew) 2R areft Tamfs stfufswa
& TEEHE® e o fafaa |

A student adds a spoon full of powdered sodium hydrogen carbonate to a flask
containing ethanoic acid. List two main observations, he must note in his note
book, about the reaction that takes place. Also write chemical equation for
the reaction.

HIE B IS H B 9T 3TifiTeh S o Taf¥s TR0 &l hHaR < aTal Tt
TARE 1 J&01 9 @I &1 T8 I &1 AW faf@q | st $© a8 F&10 & 3,
3 fad A H, 3G Tigehl M|

A student is observing a permanent slide showing sequentially the different
stages of asexual reproduction taking place in yeast. Name this process and
draw diagrams, of what he observes, in a proper sequence.
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